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2019
Part-Il
Biochemistry
(General)
o Paper-ll
f Full Marks-80
| Time-3 Hours

The question are of equal value for any group/half.
The figures in the margin indicate full marks. Candidates
are required to give their answers in their own words
as far as practiable.

. Group - A
Answer any two questions, taking atieast one question
from each sub-group : 15%2
f : Sub-Group—A(a)
1} (a) Mention the pyran and furan ring structures of
- sugars.
(b) Describe the biochemical pathway of glycolysis
mentioning its energetics.
(c) Differentiate between oligosaccharide and
, disaccharide. (2+2)+(6+3)+2
2) (a) What is meant by omega oxidation?
(b) Discuss the biochemical process of oxidation
of palmitic acid.
(c) What is carnitine shuttle? Calculate the number

of ATP formed due to oxidation of &tearic
acid. -3+6+(3+3)
PTO.



Sub-Group - A(b)

3) (a} Describe the EM structure of cell membrane
with suitable diagram.

(b) Classify biological membranes and mention
the functions of each type of membrane.
(5+3)+(3+4)

4) (a) Name the plant hormones and mention their
site of formation.

(b) Discuss the metabolic process of auxins.
(c) Explain the functions of auxins in plants.

(3+3)+5+4

Group - B
Answer any five questions, taking atleast two question
from each sub-group : 8x5

Sub-Group - B(a)

5) (a) What are meant by high-energy compounds?
State their significance.

(b} Write a brief note on redox potential.
(2+2)+4

6) (a) Mention any two disorders of carbohydrate
metabolism with reasons.

(b) What is diabetes? Differentiate between IDDM

and NIDDM. (2+2)+(2+2)
) (2) What is ‘hyperlipidemia’? How can it be
managed?

(b} Briefly mention the biochemical pathway of
synthesis of cholesterol. (1+2)+5
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8) (a) Write a brief note on one carbon metabolism
in our body.

(b) Define deamination. State its importance.
5+(1+2)

9|) (a) What is genome? Mention the codons depicted
as start coden and stop coden.

(b) Briefly mention the process of replication of
DNA. (1+2)+5

| Sub-Group — B(b)
1b) (@) Differentiate between active and passive

| transports.
(b) How does transport of glucose take place in
our body? 3+5
1) (a) State the role of adipose tissue in our metabolic
purpose.
~ (b) How does our body tissue help in excretion
: process? 4+4

12) (a) Define photosynthesis. Why NADP is
considered as Hill reagent?

(b) State the histoarchitecture of plant cell wall.
(1+2)+5

13) (a) Discuss the cori cycle.

() What are the benefits of gluconeogenesis?
4+4

14) (a) What is meant by drug resistance? Give one
example.

(b} Write-down the role of factors affecting the
efficacy of any drug. (2+1)+5
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Group - C

Answer any five questions, taking atleast two question
from each sub-group : 4x5

Sub-Group - C(a)
15) How will you purify red rose pigments to make

colour food additive? 4
16} What is phosphocreatine? How does it take part
in energy production? 2+2
17) Mention the full form of PKU. Write the reason
and management of PKU. 1+(1+2)
18) Name the nucleotides present in RNA. How does
translation of protein take place? 2+2
19) Write the biological significance of phospholipids
and lipoproteins. 2+2

Sub-Group - C(b)
20) How does transport of amino acids take place

through the membrane? 4
21) What is enythropoietin? Mention its site of formation
and functions, - 1H1+2)

22) Differentiate between herbicide and pesticide.
Mention the important functions of cytokinin,2+2

23) Define pharmacodynamics. Mention the
significance of toxicity study. 143

24) State the principle of photometry. Write down the
purpose of electrophoresis in the laboratory.
143
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